Multiplication de Trois Trinomes (I)

Simplifiez chaque expression.

1. (—r5 —rt 7’3)(67“5 + 3rt — 7r3)(—6r4 — o3 — 67’2)

2 (4w — 20 — 8v)(Tv* — 60° — 8v?)(4v* + 4v — 8)

3. (=5n% — 9n + 2)(—9n* + 4n — 2)(—9n° — 8n* — 5n?)

L (4P 3f = 3)(2f* +4Af +6)(6f +6f° — 57

- (=2p® + 8p + 6)(—6p* — 4p° + 6p*)(—3p° — p* + 8p°)

Ot

6. (—6t* — 8t — 1)(—5t> — 4t* + Tt)(—Tt> + 9t* + 5t)

-3

- (20° + 6b* — 7b%)(—2b" — 8b3 — 6b%)(—bt — 8b® + TD?)

8. (=5m® + Tm* — 6m?)(5m® — 9m* — 5m?)(6m* — 9m — 1)

0. (—6p° — 8p* — p*)(6p® + 5p* — 9p)(—6p* — 4p” — 6p)

10. (—6p® + 2p* — 9p)(—9p* — 4p” + 7p*) (5p” — Tp” + 6p)
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